|'—;4 7 9—]’ 51 2 = = = L ]
=. o = Iz o X = 2~ 0 o
™= Z 7 01 4 =4
/\]_o
4] , _’__ |
T H o/\] ] le/\
71 y3Kel ':1 F —(2-7:1__'_00 __[___E ol EI-
1 H o qu] 1,]- [¢)
. 1 o 1 = 6 =
=z o
O =
L]'_‘P__l_ - = ?‘ FO%

7}A]

> Xtk - 3@
> "E

1, 9 o
(3’ g eh
Goie

o 37HA]




10 9, 50 9, 100 Ae] 5A A sk FAbs]
o, dofid 4 Gl BE H90] 55 Tatelat,

=

=
N

(k=s

ofr

Aol F4

> E 71

> ®eh: 48 717

23 x 6 =48 (7}4])




.

A 2700 FA 1S A 2 o, U & Qe B A
/\1__:?
4

@ 10 7H4] @)24 717 ® 28 7174
@ 48 717 ® 64 74

2x2x6 =24 (7HA))




A]) o]t

| Ul ZO| B2 4x4x4 = 64(7}




2O A ooz o]

TV =

olehs

7HA]

cCt "
H =

864 712

P

ull
P

.l

>

)
ol
o ™M
X
il
[e]
= &

T
< ol
i e

T 0
mo T

< 5
o o
o
on X
o
o~
ﬂm o
= O
1_|7E
Wﬂd‘
b2
JlﬁOD
Voe,._,ml
5 N
,mmo

(@)




ot

<]

g

—_

N
3
—_
N
L
0

gl il
KO

A A

O|B2 3x3x3x3 =81 ]

ar
A~

ol Al




Hi
il
T
sl d

™
ol

i

Al

£ F=dl A7 =

A, B7F A

7.

A=

t}. A, B7} E ¢}

s

x2a

o|J

o

N O

— [

X (1-x)

a0
ol

&E

=2 1
= =

w4 B7} o] £4]




A7FEAE E &

8.

11
25

)
)
e
fite)
iy
x1_2
mﬁ I
=
®
E.El_RU
.E_IE Il
.I—kl —
ald V_A
° =
~ X
m —Im




ol

ol

Tor
i
il

)

o, A EA4=

19
25




10. o] wof apperire o ALEH B} 8 S QY= s A9l
2 Fafofet,

A
e

= 7HA]

TN ZA T p7t27h, e 72 70, 1 7F 2 RO B R Foh=
B9 S
8XTXO6XHX4Xx3%x2x%1

2X2X%X2

— 5040 (7}A]) o]k,




11.

4, 5, 6, 7, 9, 10, 11, 12 & =7} A3l 8 7| 2] -Fo] Qlt}. o] F&
71 o] O% A, Bofl AR 4 /44 o] Y uf, = O
S0 A Fofl A3l 5=9] o] ZopAlE H$-2] 5 Fatoizt,

N N

N N

A B

N N

> £ 7HA]

> e 4608 714

~&B ~

=2 o

n'=1x2x3x---x(n—1)xno|c}
4+5+6+7+9+10+11+12 =64 0|B2 Zt IR Ql+=
Yl 49 k2 32 7} E|ofof gt}

ojwf, A, B IR &0l Yl & &AF 22 YERH

4, 5, 11, 12) ¢} (6, 7, 9, 10)

4, 6, 10, 12) e (5, 7, 9, 11)

4, 7, 9, 12) ¢} (5, 6, 10, 11)

4, 7, 10, 11) 2 (5, 6, 9, 12) O] 4 7Fx]7} Qltt.

Py

ojm, 7} 1% 2017}L Ul 49 Zt2j7t vhE 4 glong
41 x 4! = 576 (7}A]) o]t}

E, OR713 v 4= Qle B g 271x]o|lB g

Tote %9 5 4 x 576 x 2 = 4608 (7}A]) ©]th.




12.

(5bx4x3x2x1) x2x 1) =720 (7HA])
webA] Hojx g o] ofsho] the ofsh ST WolH Al.g
o] 7Rl =

(TXx6x5x4x3x2x1) =720 = 5040 — 720 = 4320(7}#]) o]},

o




